3,9 - 100

M6 - 2.4 Mit Stufenzahlen multiplizieren

0,06 - 1000

M6 - 2.4 Mit Stufenzahlen multiplizieren

0,107 - 10

M6 - 2.4 Mit Stufenzahlen multiplizieren

0,09 - 100

M6 - 2.4 Mit Stufenzahlen multiplizieren

20,6 - 1000

M6 - 2.4 Mit Stufenzahlen multiplizieren

1,07 - 10

M6 - 2.4 Mit Stufenzahlen multiplizieren

30,9 : 100

M6 - 2.4 Durch Stufenzahlen dividieren

2,6 :100

M6 - 2.4 Durch Stufenzahlen dividieren

11,25 : 10

M6 - 2.4 Durch Stufenzahlen dividieren

3,01:10

M6 - 2.4 Durch Stufenzahlen dividieren

2,56:100

M6 - 2.4 Durch Stufenzahlen dividieren

1,27 : 1000

M6 - 2.4 Durch Stufenzahlen dividieren

342 : 100

M6 - 2.4 Durch Stufenzahlen dividieren

0,4:10

M6 - 2.4 Durch Stufenzahlen dividieren

0,11 : 10

M6 - 2.4 Durch Stufenzahlen dividieren




1,07

10,7

1,125

0,00127

0,011

60

20600

0,026

0,025

0,04

390

0,309

0,301

3,42



